## **FEES 2024**



900

1,100

18,900

24,200

43,100

18,900

24,200

43,100

## POSTGRADUATE

All fees quoted are in Ringgit Malaysia unless stated otherwise.

	Malaysian Student (RM)	International Student (RM)
Application Fee	150	500
Registration Fee	1,100	3,400
Refundable Caution Deposit	2,000	2,000
Student Association Fee per Semester	40	40

- All IMU Alumni who are self-funding their postgraduate studies and meet the eligibility criteria will be eligible for a bursary of 15%.
- Application fee is payable upon submission of application.
- Registration fee and refundable caution deposit is payable upon acceptance of the offer letter issued by the IMU Admissions Office.
- Student must adhere to the "Policy on Payment of Fees".
- For information on Student Visa Application fee, please refer to Visa and Immigration on the IMU website, www.imu.edu.my

Open & Distance

Learning (ODL)

Research Paper

Master of Science

21

22

900

1,100

**Total Fee** 

• Fee payable per semeste	r are subject to the num	ber of credits	registered.			-
		No. of Credit Hour	Malaysian Student (RM)		International Student (RM)	
	Study Mode		Fee Per Credit Hour	Total Fee	Fee Per Credit Hour	Total Fee
SCHOOL OF ALTERNAT	IVE AND COMPLEME	NTARY MED	ICINE			
ACUPUNCTURE (MSc)					KPT/JPT(R/72	21/7/0071)03/2027
Master of Science	Conventional	42	1,250	52,500	-	-
SCHOOL OF DENTISTRY	1					
ENDODONTICS (PG DIP	<b>"</b> )				KPT/JPT(R/091	1/7/0003)05/2029
Postgraduate Diploma	Conventional	30	2,000	60,000	-	-
IMPLANT DENTISTRY (P	PG DIP)				KPT/JPT(R/72	24/7/0019)06/2026
Postgraduate Diploma	Conventional	30	2,000	60,000	-	-
PROSTHODONTICS (PG	DIP)				KPT/JPT(R/091	1/7/0002)05/2029
Postgraduate Diploma	Conventional	30	2,000	60,000	-	-
SCHOOL OF PSYCHOLO	GY AND SOCIAL SCI	ENCES				
CLINICAL PSYCHOLOGY	(MASTER)				KPT/JPT(N/031	3/7/0001)07/2027
Master	Conventional	60	1,200	72,000	1,350	81,000
COUNSELLING (MASTE	R)				KPT/JPT(N/76	2/7/0046)09/2026
Master	Conventional	54	1,100	59,400	1,200	64,800
SCHOOL OF POSTGRAD	DUATE STUDIES					
ANALYTICAL & PHARMACEUTICAL CHEMISTRY (MSc)  KPT/JPT(N-DL/442/7/0022)02/2						2/7/0022)02/2026
	Conventional	21	1,100	23,100	1,250	26,250
Master of Science	Research Paper	22	1,100	24,200	1,250	27,500
			Total Fee	47,300		53,750

		No. of	Malaysian Student (RM)		International Student (RM)		
	Study Mode	Credit Hour	Fee Per Credit Hour	Total Fee	Fee Per Credit Hour	Total Fee	
BUSINESS ADMINISTRA MANAGEMENT (PG CE			KPT/JPT(R/345/7/	1082)09/2028, KPTJPT(R/345 KPT/JPT(R/34	5/7/1090)12/2028, 5/7/1085)10/2028		
Postgraduate Certificate	Conventional	21	1,200	25,200	1,400	29,400	
Postgraduate Diploma	Conventional	12	1,200	14,400	1,400	16,800	
Master	Conventional	13	1,200	15,600	1,400	18,200	
	Total Credit Hours	46	Total Fee	55,200		64,400	
DIABETES MANAGEME	NT & EDUCATION (PG	DIP)			KPT/JPT(R/72	6/7/0030)01/2028	
Postgraduate Diploma	Conventional	30	1,100	33,000	-	-	
Postgraduate Diploma	Open & Distance Learning (ODL)*	30	900	27,000	900	27,000	
* Refer to the University							
HEALTH INFORMATICS (PG CERT/PG DIP/MAST			H	<pre><pre></pre></pre> <pre></pre>	131)09/2025, KPT/JPT(N/720 KPT/JPT(N/72	0/7/0130)09/2025, 0/7/0129)09/2025	
Postgraduate Certificate	Conventional	20	1,100	22,000	1,250	25,000	
Postgraduate Diploma	Conventional	10	1,100	11,000	1,250	12,500	
Master	Conventional	10	1,100	11,000	1,250	12,500	
	Total Credit Hours	40	Total Fee	44,000		50,000	
University of Strathclyde Credit Recognition Pathw	ay	Additional tuition fees of approximately £16,000*					
	Doctor of Health Informatics (DHI) programme at Rutgers University, New Jersey, USA		Additional tuition fees of approximately USD48,000				
HEALTH PROFESSIONS (PG CERT/PG DIP/MAST				KPT/JPT(R/145/7/0	066)09/2025, KPT/JPT(R/145 KPT/JPT(R/14	5/7/0064)09/2025, 5/7/0070)09/2025	
	Conventional	20	1,100	22,000	1,125	22,500	
Postgraduate Certificate	Open & Distance Learning (ODL)	20	900	18,000	900	18,000	
Postgraduate Diploma	Conventional	12	1,100	13,200	1,125	13,500	
Master	Conventional	10	1,100	11,000	1,125	11,250	
	Total Credit Hours	42	Total (Conventional)	46,200		47,250	
			Total (ODL + Conventional)	42,200		42,750	
	- Credit transfer to Flinders University* Master of Clinical Education			on fee of AUD	19,650		

<sup>\*</sup>It is compulsory to complete the Postgraduate Diploma in Health Professions Education prior to embarking on this pathway. All IMU students transferring to Flinders University and meet the eligibility criteria will be eligible for a 20% discount.

		No. of Credit Hour	Malaysian Student (RM)		International Student (RM)	
	Study Mode		Fee Per Credit Hour	Total Fee	Fee Per Credit Hour	Total Fee
MOLECULAR MEDICINI	E (MSc)				KPT/JPT(R2/54	5/7/0078)07/2027
	Conventional	20	1,100	22,000	1,250	25,000
Master of Science	Research Paper	20	1,100	22,000	1,250	25,000
			Total Fee	44,000		50,000
Master of Science	Open & Distance Learning (ODL)	20	900	18,000	900	18,000
	Research Paper	20	1,100	22,000	1,100	22,000
			Total Fee	40,000		40,000
Queen Mary University of London (QMUL) Credit Recognition Pathway			Additional tuition	n fees of appro	eximately £10,000*	

<sup>\*</sup>Subject to terms and conditions

PHARMACY PRACTICE (MASTER) KPT/JPT(R2/0916/7/001)03/2029						
Master	Conventional	40	1,100	44,000	1,250	50,000
PUBLIC HEALTH (MSc)					KPT/JPT(R2/72	0/7/0077)09/2025
	Conventional	31	1,100	34,100	1,250	38,750
Master of Science*	Research Paper	9	1,100	9,900	1,250	11,250
			Total Fee	44,000		50,000
	Open & Distance Learning (ODL)	31	900	27,900	900	27,900
Master of Science*	Research Paper	9	1,100	9,900	1,100	9,900
			Total Fee	37,800		37,800
University of Arizona Credit Recognition Pathway	Open & Distance Learning (ODL)	Additional tuition fee of approximately USD10,000*				

<sup>\*</sup>Students have the opportunity to take more credits than 40 credits required. Additional fees will be charged according to the number of additional credit hours.

		Malaysian S	tudent (RM)	International Student (RM)		
		Fee Per Semester	Total Fee per Year	Fee Per Semester	Total Fee per Year	
MEDICAL & HEALTH SCIENCES (MSc/PhD) KPT/JPT(R2/720/7/0049)06/2026, KPT/JPT(R2/721/8/0043)0						
Master of Science	Tuition Fee*	5,500	11,000	10,750	21,500	
(MSc)	Examination Fee		2,000		2,100	
Doctor in	Tuition Fee*	7,200	14,400	14,050	28,100	
Philosophy (PhD)	Examination Fee		2,500		2,600	

<sup>\*</sup> There are two semesters in a University year

HEALTH PROFESSIONS EDUCATION (PhD)  KPT/JPT(N/0114/8/0001)09/203							
Doctor in Philosophy (PhD)	14,050 28,100						
HEALTHCARE MAN	HEALTHCARE MANAGEMENT (PhD)  KPT/JPT(N/0910/8/0002)10/203						
Doctor in Philosophy (PhD)	Tuition Fee	7,200	14,400	14,050	28,100		

<sup>•</sup> VIVA fee fot this programme is RM2,500 for Malaysians and RM2,600 for international students. This is a one-time fee payable at the end of the programme.

- All tuition and ancillary fees are subject to annual increases, currency exchange rates, and exclusive of levy and bridging fees (if any).
- All students are required to pay Student Association Fees of RM40 per semester.
- The fees quoted for partner universities are current estimates only.
- All fees are accurate at time of print. For latest fees and information, please visit IMU website at www.imu.edu.my

📞 +603 2727 7457 🛛 start@imu.edu.my 👚 www.imu.edu.my

International Medical University 126, Jalan Jalil Perkasa 19, Bukit Jalil, 57000 Kuala Lumpur, Malaysia Tel: +60 3 2727 7457 Fax: +60 3 8656 1018 KP/JPS/5195/US/2, KP(JPS)/DFT/US/W03

